

Apartment in Birkirkara



Birkirkara, Central



€383,000

Reference No: 240061159-339

 Total Rooms: **6**

 Floor Area (m²) : **147**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Birkirkara

BIRKIRKARA – APARTMENT - A spacious, newly constructed Apartment measuring 145 sqm, located within a small residential block in a peaceful and highly sought-after area of Santa Venera. This property boasts a bright, L-shaped Open-Plan Kitchen/Living/Dining area, which opens onto a front Balcony and a rear Terrace. The layout includes a main Bathroom, and three Bedrooms, all of which enjoy their own private Balcony, with the main Bedroom featuring an En-Suite. The Apartment is being sold fully finished, including solid wood internal Doors and completed Bathrooms. Freehold.

Features

- ✓ Double Glazed
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 6.5 x 5.5 m (35.75 m²)
- ✓ Double Bedroom : 4.9 x 3.7 m (18.13 m²)
- ✓ Double Bedroom : 4.9 x 3.7 m (18.13 m²)
- ✓ Double Bedroom : 3.7 x 3.4 m (12.58 m²)
- ✓ Bathroom : 2.3 x 2.95 m (6.79 m²)
- ✓ Bathroom : 2.47 x 1.9 m (4.69 m²)
- ✓ Open Space : 5 x 9 m (45 m²)
- ✓ Open Space : 3 x 5 m (15 m²)

Gallery





Isaac Ben Daoud

RE/MAX Superior - Fgura

M: 79845911

E: isaac@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura

368, Zabbar Road, Fgura, Malta